ADDITION-easy
[bookmark: _GoBack]Nathan was playing with 4 cars. Mark was playing with 3 cars. How many cars did they have altogether?

Susan had 2 chocolate chip cookies. Dylan had 4 Oreo cookies. How many cookies did they have together?

Jordan was playing with 3 teddy bears. Devyn was playing with 3 dolls. How many toys did they have together?

Jack ate 5 pieces of cake. Evan ate 2 pieces of cake. How many pieces did they eat together?

Rebecca picked 6 roses and put them in a vase. Rachel picked 3 sunflowers and put them in a vase. How many flowers were in the vase?

Kaia had 4 dice for a game. Kelly gave her 3 more dice. How many dice does Kaia have now?
Molly had 2 soccer balls on the field. James gave her 7 more soccer balls. How many soccer balls did Molly have?
 There are 8 pencils. Three of them are broken. How many pencils are sharp?

Alexa has 2 toys and Brian has 3 toys. How many toys are there?

Camryn raked 5 piles of leaves. Charles raked 2 more piles of leaves. How many leaf piles are there?

Kate hung 3 ornaments on her Christmas tree. Then she put 3 more ornaments on the tree. How many ornaments did Kate have on her tree?

Ben and Jaxon made some cupcakes. Ben put 4 cupcakes in the oven. Jaxon put 1 more cupcake in the oven. How many cupcakes are baking in the oven?

Fewer than
Kai has 10 pretzels for snack. Joshua has 9 pretzels for snack. How many fewer pretzels does Joshua have than Kai?  

Katelyn has 5 buttons on her jacket. Charles has 3 buttons on his jacket. How many fewer buttons does Charles have than Katelyn?

Josh has 4 grapes and Leah has 5 grapes on his lunch tray. How many fewer grapes does Josh have than Leah?
Allie has 10 stickers and Miranda has 8 stickers. How many few stickers does Miranda have than Allie?
 
Separation unknown
Charli had 10 toys. 4 of the toys were cars. Some of the toys were trucks. How many toys were trucks?

Preston had ten train cars. Seven cars were green. Some cars were blue. How many train cars were blue?

Tyler had 10 bugs in a jar. 9 bugs were spiders. Some bugs were not spiders. How many bugs were not spiders?

Miranda made 10 cupcakes. Two cupcakes had pink frosting. Some had red frosting. How many cupcakes had red frosting?

Mackenzie drew 10 pictures. 2 of the pictures were flowers. Some of them were hearts. How many pictures were hearts?

Katelyn has 10 shapes. 5 shapes are circles. Some shapes are squares. How many shapes are squares?

Camryn got 10 cards on Valentine&#39;s Day. She got 4 red hearts and some pink hearts. How many pink hearts did Camryn get?
Charles had 10 friends at his birthday party. 7 friends came at one o’clock and some more came a little later. How many more friends came later?

Charles had 5 slices of pizza. He ate some slices. Then there was 1 slice of pizza. How many slices of pizza did Charles eat?

Joshua had 5 grapes. He ate some grapes. Then there was 1 grape. How many grapes did Joshua eat?

Camryn had 5 crayons. She broke some. Then she had no crayons. How many crayons did Camryn break?

Katelyn and Kya were made four snow angels. Joshua jumped on 1 and messed it up. How many snow angels were left?



Problem solving- both addends unknown
Mrs. Reeder has 5 books. How many books could be fiction books and how many books could be nonfiction books?

Five students went to the library. How many students could be girls? How many students could be boys?

Kate got some stickers for making good choices. She received 2 more at the end of the day. She now has 4 stickers. How many stickers did Kate have at first?

Charles has 5 fish. How many could be guppies and how many could be goldfish?

Compare difference unknown
There are 5 jackets. Four of them are girls’ jackets. How many of them are boys’ jackets?


There are 5 pets. 4 of them are dogs. How many of the pets are cats?

There are 6 pennies. Two pennies are heads up. How many pennies are tails up?

There are 10 books. Four of them have a hard cover. How many of books have a soft cover?

There are 7 buttons. Five buttons are square shape. How many buttons are circle shape?
Katelyn has 10 pretzels for snack. Camryn has 9 pretzels for snack. How many fewer pretzels does Camryn have than Katelyn?

Kim has 10 stripes on his shirt. Gus has 8 stripes on his shirt. How many fewer stripes does Gus have than Kim?

Preston has 10 cars on his train. Joshua has 5 cars on his train. How many fewer cars does Joshua have than Preston?

Miranda put 10 m&m’d on her cupcake. Grayson put 6 m&m’s on his cupcake. How many few m &m’s did Grayson have than Miranda?

There were 5 snowballs. Tyler threw 3 snowballs. How many snowballs did Preston throw?

Seperation Unknown
Kevin made 7 snowballs. 3 snowballs melted. How many
snowballs did Kevin still have left? 

Miranda and Mackenzie baked 8 cookies. They ate five
cookies. How many cookies were not eaten?

Tyler was took five ornaments off his tree. 2 ornaments were yellow. How many ornaments were red?
Preston took six books back to the media center. 2 of them were nonfiction. How many books were fiction?

There were five crayons in the bag. 2 of the crayons were broken. How many crayons were not broken?

Take from change unknown
Miranda’s five bracelets were in her room. She lost some bracelets. Then she had two bracelets. How many
bracelets did Miranda lose?

Tyler had 5 chips for snack. He ate some of them. He had three chips. How many chips did Tyler eat?

Joshua had five grapes. He ate some grapes. Then there was one grape. How many grapes did Joshua eat?

